
REŠITVE 

1. SLIKOVNA ŠTEVILA 

 

 

 

 

 

 

 

 

2. SUDOKU                                                          3. REBUSI: SLON, KOLESAR 

9 7 8 5 6 1 3 4 2 

1 4 5 3 7 2 9 6 8 

3 2 6 9 4 8 1 7 5 

2 1 7 4 9 3 8 5 6 

6 3 9 2 8 5 4 1 7 

5 8 4 6 1 7 2 3 9 

4 6 3 8 5 9 7 2 1 

7 9 2 1 3 6 5 8 4 

8 5 1 7 2 4 6 9 3 

 

4. MARSOVSKA ŠTEVILA 

 

 

 

 
 

5. KOLIKO KVADRATOV? 
Na preprogi je 16 kvadratov. 

 

6. VŽIGALICE 
a)                                                                         b) 

 

 

 

 

 

7. KAKO DOLG JE DINOZAVER? 
 
Dinozaver je dolg 30 m.  
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= 5 

5 ‧ 7 + 5 = 40 
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= 8 

5 ‧ 5 + 8 = 33 

 
 

 

= 9 

 
 

 

= 6 

6 ‧ 6 + 9 = 45 


